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Year 1: Week 3, Day 5 
Subtract 10, 20 or 30 

 
Each day covers one maths topic.  It should take you about 1 hour or just a little more. 

 

1. Start by reading through the Learning Reminders. 

They come from our PowerPoint slides. 

 

 

 

 

 

2. Tackle the questions on the Practice Sheet.   

There might be a choice of either Mild (easier) or 

Hot (harder)! 

Check the answers. 

 

 

 

 

 

3. Finding it tricky? That’s OK… have a go with a 

grown-up at A Bit Stuck? 

 

 

 

 

 

 

 

 

 

4. Have I mastered the topic? A few questions to 

Check your understanding. 

Fold the page to hide the answers! 
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Sub
tracting

 10s

Pick a num
b

er from
 the sheet. Pick a tens card to sub

tract from
 the num

b
er. W

rite the num
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er sentence and use Sp
ider to 

help
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Subtracting 10s �KRW�

70 - 10 = 60 70 - 20 = 50 70 - 30 = 40 70 - 40 = 30
96 - 10 = 86 96 - 20 = 76 96 - 30 = 66 96 - 40 = 56
80 - 10 = 70 80 - 20 = 60 80 - 30 = 50 80 - 40 = 40
50 - 10 = 40 50 - 20 = 30 50 - 30 = 20 50 - 40 = 10
45 - 10 = 35 45 - 20 = 25 45 - 30 = 15 45 - 40 = 5
67 - 10 = 57 67 - 20 = 47 67 - 30 = 37 67 - 40 = 27
89 - 10 = 79 89 - 20 = 69 89 - 30 = 59 89 - 40 = 49
100 - 10 = 90 100 - 20 = 80 100 - 30 = 70 100 - 40 = 60
93 - 10 = 83 93 - 20 = 73 93 - 30 = 63 93 - 40 = 53
82 - 10 = 72 82 - 20 = 62 82 - 30 = 52 82 - 40 = 42
61 - 10 = 51 61 - 20 = 41 61 - 30 = 31 61 - 40 = 21
73 - 10 = 63 73 - 20 = 53 73 - 30 = 43 73 - 40 = 33
58 - 10 = 48 58 - 20 = 38 58 - 30 = 28 58 - 40 = 18
41 - 10 = 31 41 - 20 = 21 41 - 30 = 11 41 - 40 = 1
64 - 10 = 54 64 - 20 = 44 64 - 30 = 34 64 - 40 = 24
88 - 10 = 78 88 - 20 = 68 88 - 30 = 58 88 - 40 = 48
99 - 10 = 89 99 - 20 = 79 99 - 30 = 69 99 - 40 = 59

Subtracting 10s �PLOG�

70 - 20 = 50 
96 - 20 = 76 
80 - 20 = 60 
50 - 20 = 30 
45 - 20 = 25 
67 - 20 = 47 
89 - 20 = 69 
100 - 20 = 80 
93 - 20 = 73 
82 - 20 = 62 
61 - 20 = 41 
73 - 20 = 53 
58 - 20 = 38 
41 - 20 = 21 
64 - 20 = 44 
88 - 20 = 68 
99 - 20 = 79 
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Work in pairs

Things you will need:
• Spider’s counting strips
• A pencil

What to do:

• Choose one of Spider’s counting strips with Spider at the top.
&RXQW�LQ���V�WR�KHOS�\RX�WR��OO�LQ�WKH�PLVVLQJ�QXPEHUV�

� 1RZ�FKRRVH�D�VWULS�ZLWK�6SLGHU�DW�WKH�ERWWRP�

• Fill in as many strips as you can.

$�%LW�6WXFN"
Spider's�H[HUFLVHV
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� ,�DP�EHJLQQLQJ�WR�FRXQW�EDFN�LQ���V�IURP�QXPEHUV�EHWZHHQ����DQG�����XVLQJ�D�������JULG�WR
help.
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Check your understanding 
Questions 

 
True or false? 
 

Ø 34 – 20 = 32  

Ø 62 – 20 = 42  

Ø Ten less than 55 is 45 

Ø 85 = 55 – 30 

Ø 84 – 20 = 82 

Ø When you subtract a 10s number from a 2-digit number, both digits will change. 

 
Write some ‘true’ additions and subtractions to replace any above which are false.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  Fold here to hide answers 

 
 

 

Check your understanding 
Answers 

 
True or false? 
 
• 34 –  20 = 32 False, 34 –  20 = 14. 

• 62 – 20 = 42  True. 

• Ten less than 55 is 45   True. 

• 85 = 55 –  30 False, 85 = 55 + 30. 

• 84 – 20 = 82 False, 84 – 20 = 64. 

• When you subtract a 10s number from a 2-digit number, both digits will change.   

False, only the 10s digit changes, e.g. 47 – 20 = 27 or 63 – 30 = 33. 

 
Write some ‘true’ additions and subtractions to replace those above which are false.  
 
Children can check these using Spider counting on a 1-100 grid. Errors arise when children count back in 1s, 
rather than 10s, or include the starting number in the count, so saying 64 – 30 = 44. 
 


